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EHHAA=5X5 =25 (cm?2)
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PEIEHA = (54245) X (5+2) +2
—12X2.5+2
=30+2
=15 (m?)

B AR =15X2=30 (cm2)

5m



(e i N 2R UE M http://www.Ispjy.com

. /4 . TN J—\r,/_iv /N ;.\\2:\‘
T EH7T, &51EACH
(—) BRASHEEHA

4. IR, ARV
Wik =: PFR—MKITE

KAKEHM= (64+2+5) X (5+2) 5m
=12X2.5
=30 (m2)

G5 - THI TRTAR =K 7 TR TR AR

5m



, BRI

2

c

— 4 A YN J/—r
—. HFH

(—) mARAEEI
4. REVH, S,
TN WK AN = fa

Ll

KA = (54+2) X5

=7X5

=35 (m?2)
W =MACHIA=5X2+-2=5 (m2)
M A =35—5=30 (cm?2)
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(70+40) X30+2—30X15
=110X30-=-2—450
=3300+-2—450
—=1650—450
=1200 (m2)
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8X4=32 ( cm?)
(8+2) X4+2=8 (cm?2)
(8+2) X (4=2)

= 4X2
— 8 (cm?2)

(4=-2) X8+2=8 (cm?)
32—8—8—8=8 (cm?)
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=2X4-=2

=4 (cm2)

(8+2) X (4-+-2) -2
—4X2+-2

=4 (cm?2)

44+4=8 (cm?2)
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